E54 &=
BHEGCS FHERAMKREE KR LS
T & B # 2
2 1 BekpERR T
1 BERARAE (ER) 400 % 800 6.85|m
2 AvnN—bavoy—+t 0.20|m3
3 F15EM 600 x 600 1.00(&
4 25 M 600 x 600 1.00[&
AR BRR T
1 TEWTRE R 400%Y 2.00[m
2 SEERE (HtktA) 400%Y 10.00{m
400 x 500 7.85[m
400 % 600 5.97|m
400 % 700 2.00[m
3 BEAECANE (wrAa) 400 % 800 11.54|m
400 % 900 22.86|m
400 % 1000 5.51|m
a5t 55.73[m
4 BEARAE (EHH) 400 x 500 5.20|m
5 AvnN—bavsy—+t 2.79|m3
6 ERE=p 600 x 600 1.00(&
7 FAS M 600 x 600 1.00(&
8 AR |} K EE W300 x H400-® 300 1.00(=
Gk T
1 TETRE R 3002 2.00[m
2 SEERE (HtktA) 3002 10.00{m
300 % 400 5.58|m
300 % 500 26.00m
3 BEAECANE () 300 x 600 10.00|m
300 % 700 16.00|m
= 57.58[m
4 AvnN—bavsy—+t 2.00/m3
5 BEY E oK EBE KW240-® 200 1.00{=¢




EARIBEKIERRERS /31 7

1 VU100 1.60|m
2 VU100V 47 v b 4.00|1&
3 VU150 0.10[m
4 VU150 7 v b 1.00|{&
5 VU300 1.20|m
AR Bk ES /A T
1 VU100 1.20|m
2 VU100V 47 v b 1.00|{&
3 VU125 1.30|m
4 VU125 47 v b 1.00|{&
5 VU200 2.40[m
6 VU200 7 v b 2.00|1&
T
1 EEE HETR7 7L MEE 10.80{m2
2 BHET A7 7L % 294.56m2
3 B 7 27 7 )L b 24.33|m?2
4 Eftas 7 ) — ik 5.53|m?2
5 WeEa> 7 U —+h 28.91|m?2
6 EAYSEES 13.05[m2
7 377.18|m?2




ol FiE R 1/2

e Al IR 12 #H R Bt
B = BPREE | WrEiE |ToOWEE B | WEE THRER B | WEE |TONEE B | WEE TorER s
-1.75 2.2 1.10
-0.60 1.15 2.2 2.20 2.53
-0.60 1.10 2.4 1.20 0.4 0.20 0.4 0.20
BP 0.60 2.4 2.40 1.44 0.4 0.40 0.24 0.4 0.40 0.24
BP 1.7 2.05 1.0 0.70 0.4 0.40
+2.00 2.00 1.7 1.70 3.40 1.0 1.00 2.00 0.20 0.40
+2.00 1.7 1.70 1.0 1.00
+10.00 8.00 0.1 0.05 0.40 15 160 | 12.80 0.8 0.90 7.20
NO.1 10.00 0.05 0.50 1.4 145 | 1450 038 0.80 8.00
+10.00 | 10.00 1.9 165 | 16.50 2.1 145 | 1450
+14.00 4.00 30 2.45 9.80 2.9 250 | 10.00
NO.2 6.00 33 315 | 18.90 33 310 | 18.60
+6.00 6.00 1.6 245 | 14.70 1.4 235 | 14.10
+10.00 4.00 1.6 1.60 6.40 1.4 1.40 5.60
NO.3 10.00 1.6 1.60 | 16.00 15 145 | 1450
+7.00 7.00 1.6 160 | 11.20 15 150 | 10.50
+11.00 4.00 0.1 0.05 0.20 0.4 1.00 4.00 1.1 1.30 5.20
+14.00 3.00 0.05 0.15 0.5 0.45 1.35 0.9 1.00 3.00
+14.80 0.80 0.25 0.20 0.45 0.36
=X 76.55 3.78 131.19 113.80 0.64

UE Ju 15 3.78 +131.19 - 113.8/0.9 - 0.64/0.9 = 7.81 781 m3
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TREEEIE AT
B = B PR = FHIE | B AR = Tl | @A
-1.75
-0.60 1.15
-0.60 3.90 1.95
BP 0.60 3.90 3.90 2.34
BP 2.17 1.09 2.53 3.22
+2.00 2.00 2.17 2.17 4.34 2.53 2.53 5.06
+2.00 2.18 2.18 1.01 1.77
+10.00 8.00 2.18 218 | 1744 | 1.01 1.01 8.08
NO.1 10.00 2.15 217 | 21.70 | 1.04 1.03 | 10.30
+10.00 | 10.00 1.83 199 | 1990 | 1.36 120 | 12.00
+14.00 4.00 1.77 1.80 7.20 142 1.39 5.56
NO.2 6.00 1.72 175 | 1050 | 1.47 1.45 8.70
+6.00 6.00 2.66 219 | 1314 | 142 1.45 8.70
+10.00 4.00 2.66 266 | 1064 | 1.42 142 5.68
NO.3 10.00 2.66 266 | 2660 | 1.42 142 | 1420
+7.00 7.00 2.71 269 | 1883 | 1.37 1.40 9.80
+11.00 4.00 6.92 482 | 19.28 | 0.78 1.08 4.32
+14.00 3.00 6.75 6.84 | 2052 | 1.00 0.89 2.67
+14.80 0.80 6.37 6.56 5.25 0.50 0.40
=X 76.55 195.34 97.81
TREERIE 195.34 m2 o =g 3 97.81 m2 =g 97.81 m2




